
�:ULWLQJ� 
VXEWUDFWLRQ 

QXPEHU�VHQWHQFHV 
 

&RPELQLQJ�IRXU 
�VLQJOH-GLJLW� 
QXPEHUV 

&RPELQLQJ�VL[ 
�VLQJOH-GLJLW� 
QXPEHUV 

5HODWHG� 
DGGLWLRQ�DQG� 

VXEWUDFWLRQ�IDFWV 

   

  
1qIplAJpV_T 
Sla^�3N_ 

�LLV_T�A_L� 
1qIplAJpV_T 

 �a^V_a�3lAV_� 
���iNai]N����JAllVATNm 

�a^V_a�3lAV_� 
���iNai]N����JAllVATNm 

3Am\�mUNNp����I]qN   3Am\�mUNNp����TlNN_  3Am\�mUNNp����TlNN_  3Am\�mUNNp����I]qN  

'HVFULELQJ�GRW�GRPLQR�SDWWHUQV�  'UDZLQJ�GRWV�DQG�ZULWLQJ 
DGGLWLRQ�QXPEHU�VHQWHQFHV 

  

   

�aq_pV_T� 
�a^V_a��apm 

�ap��a^V_a� 
#q^INl�1N_pN_JNm 

 �LLV_T 
pa�3N_ 

"alN��LLV_T 
pa�3N_ 

3Am\�mUNNp����yN]]aw   3Am\�mUNNp����iV_\  3Am\�mUNNp����yN]]aw  3Am\�mUNNp����iV_\  

4mN�A_���xiA_LV_T��V]N�JAlly�JAmN�pa�mpalN�yaql�J]Amm�mNpm�
aS�NAJU�Ja]aqlNL�i]AmpVJ�m]NNvN�V_mNlp�mUNNp�� 
 

�_VpA�qmNm�A]]����mNJpVa_m�aS�UNl�JAlly�JAmN�pa�mpalN�A�
lA_TN�aS�pAm\�V_mNlp�mUNNpm�Ë�]A_TqATN�mJASSa]L�mUNNpm�
Sal�qmN�wVpU� ¨��� 
 

 NNi�yaql�®"ApUm��Ally��AmN¯�a_�yaql�^ApUm�mUN]S�V_�
yaql�J]Ammlaa^�Sal�kqVJ\�A_L�NAmy�qmN� 
 

�%SœJNwal\m��JaLN� ��;-��!�#��¸�������13�V_J]����������� � 
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,qp�yaql�Ka^U_a�TMlM right left 

 On the left there are ______ dots. 
 

On the right there are ______ dots. 
 

Altogether there are ________ dots. 

 There are more dots on the   left  /  right . 
 

There are less dots on the   left  /  right . 
or 

The dots on the left are the same as the dots on the right. 

 

______ and ______ makes ________ altogether. 
9lUpM�Taw 
^@_y�Kapm 

 

�l@w�@]] 
pTM�Kapm 
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,qp�yaql�Ka^U_a�TMlM right left 

 There are ______ dots on the left.  There are ______ dots on the right. 
 

Altogether there are _________ dots on the domino. 

 
�l@w�@]] 
pTM�Kapm 

______  and  ______  more  makes  _________  altogether. 

9lUpM�Taw 
^@_y�Kapm 

 Write a number sentence using the plus sign to describe the domino. 
 
      ______  +  ______  =  _________ 

left      right      altogether 

 

_________  -  ______  =  ______ 
altogether   left      right 

_________  -  ______  =  ______ 
altogether  right      left 

Hide the dots on the left side.  
Write a number sentence using the minus 
sign to describe what happened. 

Hide the dots on the right side.  
Write a number sentence using the minus 
sign to describe what happened. 
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10 = 1 + 9     9 + 1 = 10 

10 = 2 + 8     8 + 2 = 10 

10 = 3 + 7    7 + 3 = 10 

10 = 4 + 6    6 + 4 = 10 

10 = 5 + 5     
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10 =  1  + 9      9 +  1 = 10 

10 = 2 +  8     8 +  2  = 10 

10 =  3  + 7     7  + 3 = 10 

 10  = 4 + 6     6 + 4  = 10 

10 = 5 +  5     
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10 - 1 =  9     10  -  9  =  1 

10 - 2 =  8     10  -  8  = 2 

10 -  3  = 7    10  -  7  = 3 

10 -  4  = 6    10 -  6  =  4 

10 - 5 =  5     
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